

Updated Through 2015 Seasoon

INDIVIDUAL SINGLE GAME

Rushing

Carries – 45, Nick Ricciardulli, Humboldt State (vs. Azusa Pacific, 10/13/12) Yards – 338, Terrell Watson, Azusa Paxidix (vs. Menlo, 11/15/14)

Rushing Average (Minimum 10) – 15.9, Gabriel Ephard, Simon Fraser, 14-222 (vs. Central Washington, 9/25/10)

Rushing Average (Minimum 20) –10.8, Terrell Watson, Azusa Pacific, 28-302 (Simon Fraser, 10/12/13); Blake Barney, Dixie State, 27-291 (at South Dakota Mines, 10/31/15)

Touchdowns – 5, Lyndon Rowells, Humboldt State (vs. Simon Fraser, 11/13/10); Demetrius Sumler, Central Washington (vs. Simon Fraser, 10/13/12); Terrell Watson, Azusa Pacific (vs. Simon Fraser, 10/12/13; vs. Dixie State, 10/18/14; vs. Menlo, 11/15/14); Ja'Quan Gardner, Humboldt State (at South Dakota Mines, 10/3/15)

Long Play - 99, Malik Braxton, Western Oregon (at Simon Fraser, 10/24/15)

Passing

Attempts – 64, Scott Mitchell, Western Washington (vs. UC Davis, 11/10/01); Jason Baughman, Humboldt State (vs. Southern Oregon, 10/25/03)

Completions – 41, Chris Dixon, Humboldt State (vs. Southern Oregon, 9/27/03) Consecutive Completions - 15, Zak Hill, Central Washington (vs. Fort Lewis, 8/30/02); Ryan Robertson, Central Washington (vs. Dixie State, 11/10/12)

Completion Percentage (Minimum 10) – 94.7, Ryan Robertson, Central Washington, 18-19 (vs. Dixie State, 11/10/12)

Completion Percentage (Minimum 20) – 85.7, Aaron Currell, Humboldt State, 18-21 (vs. Western Washington, 10/26/02)

Completion Percentage (Minimum 30) – 85.4, Chris Dixon, Humboldt State, 41-48 (Southern Oregon, 9/27/03)

Yards – 488, Josh Riddell, Western Oregon (vs. Humboldt State, 11/1/08)

Yards Per Attempt (Minimum 10) – 17.8, Evan Mozzochi, Western Oregon, 15-267 (vs. Dixie State, 9/24/11)

Yards Per Completion (Minimum 10) – 26.5, Cody VonAppen, Western Oregon (vs. Dixie State, 10/13/12)

Touchdowns – 6, Troy Wheeler, Simon Fraser (vs. Dixie State, 10/27/12); Ryan Bergman, Western Oregon (vs. Dixie State, 9/21/13)

PAT Passes – 2, Jacob Kadle, Humboldt State (vs. Western Oregon, 10/13/01), Denny Bies, Western Oregon (vs. Western Washington, 10/2/04); Steve Nichols, Western Washington (vs. St. Cloud State, 9-11-04); Stefan Cantwell, Dixie State (vs. Humboldt State, 11/5/11)

Passes Had Intercepted – 6, Greg Bowcott, Simon Fraser (vs. Central Washington, 11/16/10)

Long Play - 96, Adam Perry, Western Washington (vs. Dixie State, 9/27/08)

Total Offense

Plays – 76, Mike Reilly, Central Washington (vs. West Texas A&M, 11/15/08) Yards – 535, Trent McKinney, South Dakota Mines (vs. Azusa Pacific, 10/25/14) Total Offense Yards Per Play (Minimum 15) – 16.1, Robert Webber, Humboldt State, 19-305 (vs. Dixie State, 9/19/15)

Total Offense Yards Per Play (Minimum 20) – 12.5, Dale Chase, Central Washingon, 25-313 (vs. Western New Mexico, 2002)

Touchdowns – 8, Stefan Cantwell, Dixie State, 3 rush, 5 pass (vs. Simon Fraser, 10/8/11)

Receiving

Catches - 18, Chase Krivashei, Humboldt State (vs. Augustana (S.D.), 11/21/15)

Regular Season: 15, Dustin Creager, Humboldt State (vs. Western Oregon, 9/25/04); Brian Potucek, Central Washington (vs. Nebraska Omaha, 9/10/05)

Yards – 236, Nate Brookreson, Central Washington (vs. Carroll, 8/28/04)

Avg. (min. 5) – 36.8, Tyrell Williams, Western Öregon, 5-184 (vs. Dixie State, 10/19/13)

Most yards, two catches – 138, Armahd Lewis, Central Washington (vs. Dixie State, 10/22/11)

Most yards, three catches – 131, Kyle Dravis, Azusa Pacific (vs. Central Washington, 10/12/12)

Most yards, four catches – 163, Mike Hinshaw, Western Oregon (vs. Carson-Newman, 9/21/02)

Touchdowns – 4, Dustin Creager, Humboldt State (vs. Montana Tech, 9/1/01); Johnny Spevak, Central Washington (vs. West Texas A&M, 11/15/08); Lemar Durant, Simon Fraser (vs. Dixie State, 10/27/12)

PATs – 2, James Laurence, Western Washington (vs. St. Cloud State, 9/11/04) Long Play – 96, Pat McCann, Western Washington (vs. Dixie State, 9/27/08)

Scorina

Touchdowns & Points — 5 and 30, Lyndon Rowells, Humboldt State (vs. Simon Fraser, 11/13/10); Demetrius Sumler, Central Washington (vs. Simon Fraser, 10/13/12); Terrell Watson, Azusa Pacific (vs. Simon Fraser, 10/12/13; vs. Dixie State, 10/18/14; vs. Menlo, 11/16/14); Ja'Quan Gardner, Humboldt State (at South Dakota Mines, 10/3/15)

Field Goals – 4, Michael Koenen, Western Washington (vs. Western Oregon, 11/3/01); Mike Langston, Dixie State (vs. Azusa Pacific, 10/17/09); Kelly Morgan, Western Oregon (vs. Humboldt State, 11/6/10 & 10/22/11); Jameson Schultz, Dixie State (vs. Azusa Pacific, 10/15/11); Jamie Cacciatore, Azusa Pacific (vs. Western Oregon, 10-27-12 & 10-5-13)

Field Goals, No Misses – 4, Michael Koenen, Western Washington (vs. Western Oregon, 11/3/01); Mike Langston, Dixie State (vs. Azusa Pacific, 10/17/09); Kelly Morgan, Western Oregon (vs. Humboldt State, 11/6/10 & 10/22/11); Jameson Schultz, Dixie State (vs. Azusa Pacific, 10/15/11); Jamie Cacciatore, Azusa Pacific (vs. Western Oregon, 10-27-12 & 10-5-13)

Field Goal Attempts – 6, Kelly Morgan, Western Oregon (vs. Humboldt State, 10/22/11)

PATs Made – 10, Matt McDowell, Central Washington (vs. Fort Lewis, 8/30/02)
PATs (2-point) Made – 2, James Laurence, Western Washington (vs. St. Cloud State, 9/11/04)

PATs Attempted – 10, Michael Koenen, Western Washington (vs. Montana-Western, 9/15/01); Matt McDowell, Central Washington (vs. Fort Lewis, 8/30/02)

Points, kicker – 16, Michael Koenen, Western Washington (vs. Western Oregon, 11/3/01); Kelly Morgan, Western Oregon (vs. Humboldt State, 10/22/11)

Long Field Goal – 54, Michael Koenen, Western Oregon (vs. Central Oklahoma, 8/30/01)

Kickoff Returns

Returns – 8, Mike Hinshaw, Western Oregon (vs. Eastern Washington, 9/14/02); Cole Tudor, Simon Fraser (vs. Humboldt State, 11/13/10); Earl Anderson, Simon Fraser (vs. Central Washington, 9/8/12); Cache Morgan, Dixie State (vs. Humboldt State, 10/20/12)

Yards – 180, Cache Morgan, Dixie State (vs. Humboldt State, 10/20/12) Avg. (min. 3) – 45.7, Patrick Tepea, Western Oregon, 3-137 (vs. Azusa Pacific,

10/5/13)
Most Yards, 2 returns – 142, Jesse Zalk, Central Washington (at Simon Fraser, 11/6/15)

Touchdowns – 1, Many with

Long Return – 100, Cache Morgan, Dixie State (vs. Adams State, 9/3/11; vs. Azusa Pacific, 9/15/12)

Punt Returns

Returns – 8, Chase Krivashei, Humboldt State (vs. Simon Fraser, 10/31/15)

Yards – 118, Dustin Creager, Humboldt State (vs. Southern Oregon, 9/17/02); Ivan McCrae, Western Oregon (Southern Oregon, 11/2/02)

Avg. (min. 3) – 39.3, Ivan McCrae, Western Oregon, 3-118 (vs. Southern Oregon, 11/2/02)

Touchdowns – 1, Many with

Long Return – 92, Ivan McCrae, Western Oregon (vs. Southern Oregon, 11/2/02)

Combined Punt/Kickoff Returns

Yards – 210, Lucas Gonsalves, Western Oregon, 98-112 (vs. Azusa Pacific, 10/23/10)

All-Purpose

Yards – 340, Terrell Watson, Azusa Pacific (vs. Menlo, 11/15/14)

Punting

Punts – 12, Michael Koenen, Western Oregon (vs. Montana, 9/22/01); Sean Barber, Azusa Pacific (vs. Western Oregon, 9/29/12); Alexander Bradt, Western Oregon (at Portland State, 9/26/15)

Yards – 510, Michael Koenen, Western Washington (vs. Montana, 9/22/01) Avg. (min. 5) – 51.0, Alexander Bradt, Western Oregon, 5-255 (vs. Central Washington, 9/15/12)

Long Punt – 74, Coby Sadler, Central Washington (vs. Montana-Western, 9/3/04); Jameson Schultz, Dixie State (vs. Adams State, 9/3/11)

Interceptions

Interceptions — 3, Duval Seamster, Humboldt State (vs. Saint Mary's, 9/13/03); Bret Hughes, Western Oregon (vs. Western Washington, 10/2/04 & 11/5/05); Stan Langlow, Central Washington (vs. Simon Fraser, 11/6/10); Jeremiah Maluia, Humboldt State (vs. Western Oregon, 11/12/11); Cedrique Chaney, Central Washington (Western Oregon, 9/15/12); Daniel Moffett, Dixie State (vs. Humboldt State, 9/28/13); Isaiah Davis, Central Washington (vs. Humboldt State, 10/5/13) Yards — 112, Deion Stell, Central Washington (vs. Simon Fraser, 9/27/14) Long Return — 100, Jerome Williams, Central Washington (vs. Western Oregon, 10/17/09); Kevin Puckett, Central Washington (vs. Dixie State, 10/6/12) Yards Per Return (min. 2) — 56.0, Deion Stell, Central Washington, 2-112 (vs. Simon Fraser, 9/27/14)

Touchdowns - 2, Brandon Kennedy, Central Washington (vs. Western Oregon, 2005)

Tackles

Most Unassisted – 17, Jordan Herdman, Simon Fraser (vs. Humboldt State, 10/31/15)

Most Assists – 19, Jordan Herdman, Simon Fraser (vs. Humboldt State, 11/1/14) Most Tackles – 27, Jordan Herdman, Simon Fraser (vs. Humboldt State, 11/1/14) Most Tackles For Losses – 6.5, Casey Chin, Simon Fraser (vs. Humboldt State, 11/9/13)

Most TFL Yards — 37, Nick Rocco, Dixie State, 4 (Central Washington, 9/18/10)
Most QB Sacks — 4, Ryan Dyer, Central Washington (vs. Humboldt State, 9/20/08),
Austin Schnizler, Central Washington (Dixie State, 11/16/13)
Most QB Sack Yards — 31, Ryan Dyer, Central Washington (vs. Humboldt State, 9/20/08)

Fumbles

Most Recoveries – 2, Many with Most Yards - 96, Chris Aragon, Dixie State (vs. Adams State, 8/28/10) Long Return – 96, Chris Aragon, Dixie State (vs. Adams State, 8/28/10) Most TDs – 2, Alex lezzi, Simon Fraser (Humboldt State, 11/3/12)

Forced Fumbles

Most Forced Fumbles – 4, Rob White, Western Washington (Fort Lewis, 9/14/02)

Takeaways

Most Takeaways – 3, Duval Seamster, Humboldt State (vs. Saint Mary's, 2003); Bret Hughes, Western Oregon (vs. Western Washington, 2004 & 2005); Stan Langlow, Central Washington (vs. Simon Fraser, 11/6/10); Jeremiah Maluia, Humboldt State (vs. Western Oregon, 11/12/11); Cedrique Chaney, Central Washington (vs. Western Oregon, 9/15/12)

Individual Season

Rushing

Carries - 338, Ja'Quan Gardner, Humboldt State (2015)

Yards - 2,266, Ja'Quan Gardner, Humboldt State (2015)

Avg. (min. 100) - 6.8, Kurt Scoby, Azusa Pacific (2015)

Touchdowns – 29, Terrell Watson, Azusa Pacific (2014)

PATs (2-pointers) – 1, 17 with

Game Avg. - 195.7, Terrell Watson, Azusa Pacific, 11-2,153 (2014)

Passino

Attempts - 474, Trey Wheeler, Simon Fraser (2012)

Completions - 296, Trey Wheeler, Simon Fraser (2012)

Interceptions – 18, Dale Chase, Central Washington (2001); Josh Riddell, Western Oregon (2008)

Low Interc. PCT. (min. 200 att) – 1.5, Scott Mitchell, Western Washington, 5-330 (2001)

Low Interc. PCT. (min. 100 att) – 0.5, Trent McKinney, South Dakota Mines, 1-185 (2015)

Completion PCT. - 67.9, Zak Hill, Central Washington, 209-308 (2002)

Yards - 3,706, Mike Reilly, Central Washington (2008)

Game Avg. - 318.2, Ryan Bergman, Western Oregon, 9-2,864 (2014)

Touchdowns – 37, Mike Reilly, Central Washington (2008)

Touchdown PCT. - 8.9, Mike Reilly, Central Washington, 37-414 (2008)

PAT Passes – 3, Jacob Kadle, Humboldt State (2001); Scott Mitchell, Western Washington (2001); Adam Perry, Western Washington (2008); Stefan Cantwell, Dixie State (2011); Robert Webber, Humboldt State (2014)

Efficiency Rating – 167.0, Mike Reilly, Central Washington (2008)

Total Offense

Plays - 576, Griff Robles, Dixie State (2013)

Yards – 4,121, Mike Reilly, Central Washington (2008)

Touchdowns - 41, Mike Reilly, Central Washington (2008)

Play Avg. - 7.98, Josh Riddell, Western Oregon, 354-2,824 (2008)

Game Avg. – 346.7, Griff Robles, Dixie State, 11-3,814 (2013)

Receiving

Catches – 96. Chase Krivashei, Humboldt State (2013)

Yards - 1,442, Johnny Spevak, Central Washington (2008)

Avg. (min. 30 catches) – 20.3, Moses Lewis, Central Washington, 30-610 (2001)

Avg. (min. 20 catches) - 20.9, Armahd Lewis, Central Washington, 21-438 (2011)

Avg. (Catches) - 8.8, Dustin Creager, Humboldt State, 10-88 (2004)

Avg. (Yards) - 120.2, Johnny Spevak, Central Washington, 12-1442 (2008)

Touchdowns – 20, Johnny Spevak, Central Washington (2008)

PAT Catches - 3, Travis McKee, Western Washington (2008)

Scoring

Touchdowns - 29, Terrell Watson, Azusa Pacific (2014)

Field Goals – 20, Garrett Rolsma, Central Washington (2009)

Field Goal Attempts – 28, Sean Davis, Central Washington (2010)

FG PCT. (min. 10) - 84.6, Cameron Southward, Humboldt State, 11-13 (2015)

PATs Made - 63, Garrett Rolsma, Central Washington (2008)

PATs Attempted - 64, Cameron Southward, Humboldt State (2015)

PATs Made, no misses – 63, Garrett Rolsma, Central Washington (2008)

PATs (2-pointers) – 3, Travis McKee, Western Washington (2008)

Points – 174, Terrell Watson, Azusa Pacific (2014)

Game Avg. - 15.8, Terrell Watson, Azusa Pacific, 11-174 (2014)

Points, kicker - 108, Garrett Rolsma, Central Washington (2008)

Kicker, Game Avg. – 9.0, Garrett Rolsma, Central Washington, 12-108 (2008)

Kickoff Returns

Returns – 46, Earl Anderson, Simon Fraser (2012)

Yards – 1,012, Cache Morgan, Dixie State (2011)

Avg. (min. 10) - 38.5, Courtney Smith, Central Washington, 12-462 (2008)

Touchdowns – 2, Zach Russell, Western Washington (2004); Courtney Smith, Central Washington (2008); Cache Morgan, Dixie State (2012)

Punt Returns

Returns - 45, Earl Anderson, Simon Fraser (2014)

Yards – 451, Lucas Gonsalves, Western Oregon (2010)

Avg. (min. 10) - 24.5, Earl Anderson, Simon Fraser, 10-245 (2013)

Touchdowns - 2, Paul Revis, Western Oregon (2015)

All-Purpose

Yards - 2,369, JaQuan Gardner, Humboldt State (2015)

Game Avg. - 212.1, Terrell Watson, Azusa Pacific, 11-2,333 (2014)

Punting

Punts - 76, Lucas Taroli, Western Oregon (2003)

Yards - 3.319. Lucas Taroli, Western Oregon (2003)

Avg. - 44.9, Michael Koenen, Western Washington, 49-2,201 (2002)

Interceptions

Interceptions - 11, Jason Patterson, Central Washington (2001)

Yards - 243, Bryce Peila, Western Oregon (2011)

Avg. (min. 4) – 32.6, Brandon Kennedy, Central Washington, 5-163 (2005)

Touchdowns – 3, Brandon Kennedy, Central Washington (2005)

Tackles

Most Solo Tackles - 72, Jordan Herdman, Simon Fraser (2015)

Most Assists – 98, Jordan Herdman, Simon Fraser (2014)

Most Tackles - 165, Jordan Herdman, Simon Fraser (2014)

Most Tackles For Loss - 25.5, Jacob Galloway, Central Washington (2004)

Most TFL Yards - 125, Jacob Galloway, Central Washington (2004)

Most QB Sacks - 14.5, Jacob Galloway, Central Washington (2004)

Most QB Yards - 98, Jacob Galloway, Central Washington (2004)

Fumbles

Most Recoveries - 5, Buddy Wood, Central Washington (2008 & 2009)

Touchdowns – 2, Buddy Wood, Central Washington (2009); Jordan McGowan-Smith, Humboldt State (2010); Alex lezzi, Simon Fraser (Humboldt State, 2012)

Most Forced Fumbles – 5, Buddy Wood, Central Washington (2009)

Takeaways

Most Takeaways – 12, Jason Patterson, Central Washington (2001)

INDIVIDUAL CAREER

Rushing

Carries - 820, Terrell Watson, Azusa Pacific (2012-14)

Yards - 5,059, Terrell Watson, Azusa Pacific (2012-14)

Avg. (min. 200) - 6.2, Terrell Watson, Azusa Pacific, 820-5,059 (2012-14)

Active: 6.7, Ja'Quan Gardner, Humboldt State, 426-2,867 (2014-15)

Touchdowns - 63, Terrell Watson, Azusa Pacific (2012-14)

PATs – 2, Greg Bowcott, Simon Fraser (2011-12)

Game Avg. (min. 15 games) – 148.8, Terrell Watson, Azusa Pacific, 34-5059 (2012-14)

Passing

Attempts - 1,553, Miike Reilly, Central Washington (2005-08)

Completions - 995, Miike Reilly, Central Washington (2005-08)

Passes Had Intercepted - 42, Zak Hill, Central Washington (1999-03)

Low Interc. PCT. (min. 300 att) - 1.7, Scott Mitchell, Western Washington, 15-905 (1999-01)

Completion PCT. (min. 300 att) – 64.1, Mike Reilly, Central Washington, 995-1553 (2005-08)

Yards - 12,448, Mike Reilly, Central Washington (2005-08)

Game Avg. (min. 15 games) - 270.6, Mike Reilly, CWU, 47-12,448 (2005-08)

Yards Per Attempt - 8.0, Mike Reilly, Central Washington, 1553-12,448 (2005-08)

Yards Per Completion – 14.3, Ryan Bergman, Western Oregon, 468-6,702 (2011-14)

Touchdowns - 118, Mike Reilly, Central Washington (2005-08)

Touchdown PCT. (min. 300 att) – 7.6, Mike Reilly, Central Washington, 118-1,553 (2005-08)

PAT Passes - 5, Mike Reilly, CWU (2005-08); Brian Hildebrand, HSU (2007-08)

Total Offense

Plays – 2,008, Mike Reilly, Central Washington (2005-08)

Yards - 13,711, Mike Reilly, Central Washington (2005-08)

Touchdowns - 132, Mike Reilly, Central Washington (2005-08)

Total Offense Yards Per Play (Minimum 500 Plays) – 7.0, Josh Riddell, Western Oregon, 755-5,319 (2008-09)

Game Avg. - 298.1, Mike Reilly, Central Washington, 46-13,711 (2005-08)

Receiving

Catches - 318, Johnny Spevak, Central Washington (2006-09)

Yards - 4,426, Johnny Spevak, Central Washington (2006-09)

Yards Per Catch (Minimum 50 Catches) – 19.0, Justin Ore, Western Oregon, 70-1,331 (2007-10)

Yads Per Catch (Minimum 100 Catches) – 17.6, Mike Hinshaw, Western Oregon, 140-2,469 (2000-03)

Receiving Yards Per Game (Minimum 15 Games) – 104.0, Lemar Durant, Simon Fraser. 23-2.392 (2012-14)

Touchdowns - 54, Johnny Spevak, Central Washington (2006-09)

PATs (2-point) – 3, Jake Roberts, Central Washington (2000-03); Brian Potucek, Central Washington (2001-05); Travis McKee, Western Washington (2005-08); Alex Nelson, Dixie State (2007-10)

Scoring

Touchdowns - 64, Terrell Watson, Azusa Pacific (2012-14)

Field Goals Made - 53, Garrett Rolsma, Central Washington (2006-09)

Field Goal Attempts – 74, Michael Koenen, Western Oregon (2001-04)

Field Goal Percentage (Minimum 20 Attempts) – 75.7, Garrett Rolsma, Central Washington, 53-70 (2006-09)

PAT Kicks Made – 171, Garrett Rolsma, Central Washington (2006-09)

PAT Kicks Attempted - 179, Garrett Rolsma, Central Washington (2006-09)

PAT Percentage (Minimum 50 Attempts) – 97.4, Matt Bruder, Humboldt State, 147-151 (2010-14)

PATs (2-point) - 4, Jake Roberts, Central Washington (2000-03)

Points - 384, Terrell Watson, Azusa Pacific (2012-14)

Points Per Game (Minimum 15 Games) – 11.3, Terrell Watson, Azusa Pacific, 34-384 (2012-14)

Points, Kicker - 330, Garrett Rolsma, Central Washington (2006-09)

Kicker, Game Avg. – 6.9, Garrett Rolsma, Central Washington, 48-330 (2006-09)

Kickoff Returns

Returns - 125, Earl Anderson, Simon Fraser (2011-15)

Yards - 2,538, Earl Anderson, Simon Fraser (2011-15)

Avg. (min. 25) - 25.3, Isaiah Davis, Central Washington (2012-14)

Active: 28.1, Jesse Zalk, Central Washington (2013-15); 26.4, Tarik Myles, Azusa Pacific (2013-15)

Touchdowns – 3, Cache Morgan, Dixie State (2011-12); Jesse Zalk, Central Washington (2013-15)

Punt Returns

Returns - 104, Erik Totten, Western Washington (1998-01)

Yards - 1,242, Erik Totten, Western Washington (1998-01)

Avg. (min. 30) - 17.4, Kyle Killingsworth, Humboldt State, 31-538 (2003-06)

Touchdowns – 2, Adam Bighill, Central Washington (2007-10), Kyle Killingsworth, Humboldt State (2003-06); Earl Anderson, Simon Fraser (2011-14); **Paul Revis, Westen Oregon (2014-15)**

All-Purpose

Yards - 5,508, Terrell Watson, Azusa Pacific (2012-14)

Game Avg. - 162.0, Terrell Watson, Azusa Pacific, 34-5,508 (2012-14)

Active: 164.7, Ja'Quan Gardner, Humboldt State, 20-3,294 (2014-15)

Punting

Punts – 259, Alexander Bradt, Western Oregon (2012-15)

Yards - 10,166, Alexander Bradt, Western Oregon (2012-15)

Avg. (min. 100) - 43.2, Joe Smith, Central Washington, 144-6,227 (2000-03)

Interceptions

Interceptions – 22, Jason Patterson, Central Washington (1998-01)

Yards - 436, Bryce Peila, Western Oregon (2009-12)

Avg. (min. 8) – 26.6, Brandon Kennedy, Central Washington, 14-373 (2005-07)

Touchdowns - 5, Brandon Kennedy, Central Washington (2005-07)

Pass Breakups – 31, Cedrique Chaney, Central Washington (2012-15)

Passes Defensed – 44, Jason Patterson, Central Washington, 22-22 (1998-01)

Tackles

Solo Tackles - 208, Blake Walker, Central Washington (2001-04)

Most Assists – 196, Buddy Wood, Central Washington (2005-09)

Total Tackles - 385, Buddy Wood, Central Washington (2005-09)

Most Tackles For Loss – 77, Matt Cox, Western Oregon (2005-08)

Most QB Sacks - 36, Matt Cox, Western Oregon (2005-08)

Fumbles

Most Recoveries - 11, Buddy Wood, Central Washington (2005-09)

Touchdowns - 3, Buddy Wood, CWU (2005-09); Jordan McGowan, HSU (2010-11)

Most Forced Fumbles - 10, Buddy Wood, Central Washington (2005-09)

Takeaways

Most Takeaways – 24, Jason Patterson, Central Washington (1998-01)

INDIVIDUAL MISCELLANEOUS

Rushing

Most 100 yard games, season - 11, Ja'Quan Gardner, Humboldt State (2015)

Most 100 yard games, career - 25, Terrell Watson, Azusa Pacific (2012-14)

Most consecutive 100 yard games - 11, Ja'Quan Gardner, Humboldt State (2015)

Most consecutive games, touchdown - 12, Ja'Quan Gardner, Humboldt State (1 in 2014, 11 in 2015, 11/15/14 to 11/21/15)

Consecutive games, TD (regular season) - 12, Ja'Quan Gardner, Humboldt State (1 in 2014, 10 in 2015, 11/15/14 to Present)

Most 100 yard rushers, one game - 4, Humboldt State (Ja'Quan Gardner, 208; Richard Doctor, 109; Blair Zerr, 103; Jabar Byrd, 100 at South Dakota Mines, 10/3/15)

Most yards, minimum two runners each with at least 100 yards, game - 520, Humboldt State (Ja'Quan Gardner, 208; Richard Doctor, 109; Blair Zerr, 103; Jabar Byrd, 100 at South Dakota Mines, 10/3/15)

Most 200 yard games, season - 6, Terrell Watson, Azusa Pacific (2014)

Most 200 yard games, career – 8, Terrell Watson, Azusa Pacific (2012-14)

Most 300 yard games, season - 1, Nat Conley, Central Washington (2001); Terrell Watson, Azusa Pacific (2013 & 2014); Ja'Quan Gardner, Humboldt State (2015)

Most 300 yard games, career – 2, Terrell Watson, Azusa Pacific (2012-14)

Passing

Most 200 yard games, season - 12, Mike Reilly, Central Washington (2008)

Most 200 yard games, career - 41, Mike Reilly, Central Washington (2005-08)

Most consecutive 200 yard games - 16, Mike Reilly, Central Washington (11/10/07 to 11/15/08)

Most 300 yard games, season – 6, Jacob Kadle, Humholdt State (2001); Mike Reilly, Central Washington (2008); Ryan Bergman, Western Oregon (2014)

Most 300 yard games, career - 14, Mike Reilly, Central Washington (2005-08)

Most consecutive 300 yard games – 4, Trey Wheeler, Simon Fraser (2012)

Most consecutive games TD, season - 12, Mike Reilly, Central Washington (2008)

Most consecutive games. TD. career - 46. Mike Reilly. Central Washington (2005-08)

Most consecutive games, no interceptions (min. 10 passes each game) - 5, Scott Mitchell, Western Washington (1 in 2000, 4 in 2001); Alex Rump, Humboldt State (2012)

Most consecutive passes, no interceptions – 184, Mike Reilly, Central Washington (9/6/08 to 10/11/08); 167, Jason Baughman, Humboldt State (9/11/04 to 10/23/04); 164, Scott Mitchell, Western Washington (11/4/01 to 9/29/01)

Total Offense

Most 200 yard games, season - 12, Mike Reilly, Central Washington (2008)

Most 200 yard games, career – 41, Mike Reilly, Central Washington (2005-08)

Most consecutive 200 yard games - 16, Mike Reilly, Central Washington (2007-08)

Most 300 yard games, season – 8, Mike Reilly, Central Washington (2008); Griff Robles, Dixie State (2013)

Most 300 yard games, career – 21, Mike Reilly, Central Washington (2005-08)

Most consecutive 300 yard games - 8, Griff Robles, Dixie State (2013)

Most consecutive games TD, season - 12, Mike Reilly, Central Washington (2008)

Most consecutive games, TD, career - 46, Mike Reilly, Central Washington (2005-08)

Receiving

Most 100 yard games, season – 8, Johnny Spevak, Central Washington (2008); Lemar Durant, Simon Fraser (2012)

Most 100 yard games, career – 20, Dustin Creager, Humboldt State (2001-04)

Most consecutive 100 yard games - 5, Johnny Spevak, Central Washington (2008); Lemar Durant, Simon Fraser (2012)

Most consecutive games, touchdown - 11, Andy Olson, Western Washington (9 in 2004, 2 in 2005)

Most 100 yard receivers, game - 3, Western Oregon (Shaun Kauleinakoku 129, Demario Ballard 129, Justin Ore 106 vs. Humboldt State, 2008)

Most yards by two 100 yard receivers - 332, Western Oregon (Tyrell Williams 171, Paul Revis 161 vs. Central Washington, 10/18/14)

Scoring

Most consecutive games, touchdown - 12, Ja'Quan Gardner, Humboldt State (11/15/14 to 11/21/15)

Regular Season: 11, Ja'Quan Gardner, Humboldt State (11/15/14 to Present)

Most consecutive PATs made - 99, Garrett Rolsmo, Central Washington (12/1/07 to 11/7/09)

Most consecutive FGs made – 11, Matt Bruder, Humboldt State (9/29/12 to 9/7/13)

Interceptions

Most consecutive game, interception – 6, Jason Patterson, Central Washington (2001)

TEAM OFFENSE SINGLE GAME

Rushing

Carries - 67, Dixie State (at South Dakota Mines, 10/31/15)

Yards - 589, Dixie State (at South Dakota Mines, 10/31/15)

Avg. - 10.6, Simon Fraser, 22-234 (vs. Central Washington, 9/25/10)

Touchdowns – 7, Azusa Pacific (vs. Dixie State, 10/18/14); **Humboldt State (at South Dakota Mines, 10/3/15)**

PAT (2-point) - 1, 26 with

Passing

Attempts - 67. Simon Fraser (vs. Western Oregon, 9/13/14)

Completions - 41, Humboldt State (vs. Southern Oregon, 9/27/03)

Interceptions – 7, Western Oregon (vs. Humboldt State, 11/12/11)

Completion Percentage (Minimum 20 Passes) – 95.2, Central Washington, 20-21 (11/10/12)

Yards – 518, Simon Fraser (vs. Humboldt State, 9/7/13)

Touchdowns – 6, Western Washington (vs. Fort Lewis, 9/14/02; vs. Humboldt State, 10/25/08); Simon Fraser (vs. Dixie State, 10/27/12); Western Oregon (vs. Dixie State, 9/21/13)

PATs (2-points) - 3, Humboldt State (vs. Western Oregon, 10/13/01)

Total Offense

Plays - 103, Humboldt State (vs. Augustana, S.D., 11/21/15)

Regular Season: 102, Dixie State (vs. Colorado Mines, 9/6/14)

Yards - 707, Humboldt State (vs. Augustana, S.D., 11/21/15)

Regular Season: 696, Central Washington (vs. Fort Lewis, 8/30/02); Western Oregon (vs. Dixie State, 10/13/12)

Total Offense Yards Per Play – 10.7, Humboldt State (vs. Dixie State, 9/19/15)

Touchdowns – 10, Western Washington (vs. Montana -Western, 9/15/01); Humboldt State (vs. Dixie State, 11/15/14)

Receiving

Yards Per Catch (Minimum 10) – 26.6, Azusa Pacific, 12-319 (vs. Central Washington, 10/3/15)

Yards Per Attempt (Minimum 10) – 20.0, Humboldt State, 20-400 (vs. Dixie State, 9/19/15)

Scoring

Touchdowns - 11, Western Washington (vs. Montana-Western, 9/15/01)

Field Goals – 4, Western Washington (vs. Western Oregon, 11/3/01); Dixie State (vs. Azusa Pacific, 10/17/09 & 10/15/11); Western Oregon (vs. Humboldt State, 11/6/10 & 10/22/11); Azusa Pacific (vs. Western Oregon, 10/27/12; vs. Western Oregon, 10/5/13)

FG Attempts – 6, Western Oregon (vs. Humboldt State, 10/22/11); Humboldt State (vs. Texas A&M-Kingsville, 9/6/14)

PATs Made - 10, Central Washington (vs. Fort Lewis, 8/30/02)

PATs (2-points) - 3, Humboldt State (vs. Western Oregon, 10/13/01)

Points – 77, Western Washington (vs. Montana-Western, 9/15/01)

Interceptions

Interceptions – 7, Humboldt State (vs. Western Oregon, 11/12/11)

Yards – 112, Central Washington (vs. Dixie State, 10/6/12; vs. Simon Fraser, 9/27/14) Touchdowns – 2, Central Washington (vs. Western Oregon, 10/1/05 & 9/20/14)

Kickoff Returns

Returns - 11, Simon Fraser (vs. Humboldt State, 11/13/10)

Yards – 233, Dixie State (vs. Azusa Pacific, 10/15/11)

Kick Return Average (Minimum 3 Returns) – 52.3, Western Oregon, 3-157 (vs. Azusa Pacific. 10/23/10)

Touchdowns - 1, Many with

Punt Returns

Returns - 10, Humboldt State (vs. Simon Fraser, 10/31/15)

Yards - 134, Humboldt State (vs. South Dakota Mines, 10/4/14)

Punt Return Average (Minimum 3 Returns) – 39.3, Western Oregon, 3-118 (vs. Southern Oregon, 11/2/02)

Touchdowns - 2, Central Washington (vs. Simon Fraser, 9/27/14)

Punting

Punts – 12, Western Washington (vs. Montana, 9/22/01); Western Oregon (vs. UC Davis, 10/11/03; vs. Eastern Washington, 9/17/05; at Portland State 9/26/15); Azusa Pacific (vs. Western Oregon, 9/29/12)

Most Punts, opponent - 12, Western Oregon (vs. Azusa Pacific, 9/29/12)

Fewest Punts – 0, Western Oregon (Humboldt State, 11-16-02); Western Washington (Montana-Western, 9-15-01); Central Washington (Simon Fraser, 9-8-12); **South Dakota Mines (vs. Lyon, 9/26/15)**

Yards - 510, Western Washington (vs. Montana, 9/22/01)

Punting Average (Minimum 5) – 51.0, Western Oregon, 5-255 (vs. Central Washington, 9/15/12)

Miscellaneous

First Downs - 45, Humboldt State (vs. Augustana, S.D., 11/21/15)

Regular Season: 41, Simon Fraser (vs. Dixie State, 10/8/11)

First Downs Rushing - 28, Dixie State (at South Dakota Mines, 10/31/15)

First Downs Passing – 24, Humboldt State (vs. Azusa Pacific, 10/12/02); vs. Simon Fraser (Dixie State, 10/27/12)

First Downs By Penalty - 9, Central Washington (vs. Eastern Washington, 9/18/04)

Penalties - 21, Western Oregon (vs. Portland State, 8/30/08)

Penalty Yards – 186, Humboldt State (vs. Menlo, 9/18/10)

Fewest Penalties - 0, Dixie State (vs. Central Washington, 11/8/14)

Fewest Penalty Yards – 0, Dixie State (vs. Central Washington, 11/8/14)

Fumbles – 7, Humboldt State (vs. Western Oregon, 2002; vs. Simon Fraser, 2012); Western Washington (vs. Central Washington, 2003); Central Washington (vs. Western Oregon, 2005)

Fumbles lost – 5, Humboldt State (vs. Simon Fraser, 2012)

Takeaways Gained – 8, Central Washington (vs. Western Oregon, 10/22/05)

TEAM OFFENSE SINGLE SEASON

Rushing

Carries - 588, Humboldt State (2015)

Yards - 3,164, Humboldt State (2015)

Play Avg. - 5.8, Azusa Pacific, 515-2,962 (2014)

Touchdowns – 40, Azusa Pacific (2014)

PAT (2-point) - 2, Humboldt State (2010)

Game Avg. - 269.3, Azusa Pacific, 11-2,962 (2014)

Passing

Attempts – 501, Simon Fraser (2014)

Completions – 302, Simon Fraser (2012)

Interceptions – 24, Central Washington (2001)

Fewest Interceptions – 4, Humboldt State (2012)

Low Interception Pct. – 1.3, Humboldt State, 4-310 (2012)

Completion Percentage - 65.4, Central Washington, 276-422 (2008)

Yards - 3,782, Central Washington (2002)

Fewest Sacks Allowed - 8, Humboldt State (2010)

Fewest Sack Yards - 37, Humboldt State (2010)

Touchdowns - 37, Central Washington (2008)

PAT Passes - 4, Humboldt State (2001), Dixie State (2011)

Game Avg. – 321.7, South Dakota Mines, 11-3,539 (2014)

Efficiency Rating - 166.2, Central Washington (2008)

Total Offense

Plays – 923, Central Washington (2009)

Yards - 5,669, Humboldt State (2015)

Play Avg. - 6.46, Azusa Pacific, 669-4,326 (2015)

Touchdowns - 63, Humboldt State (2015)

Game Avg. - 480.2, South Dakota Mines, 11-5, 282 (2014)

Scoring

Touchdowns - 66, Humboldt State (2015)

PATs - 64, Central Washington (2008)

PAT Kick Percentage. – 100.0, Central Washington, 63-63 (2008); **Simon Fraser, 14- 14 (2015)**

2-Point PATs – 4, Western Washington (2001 & 2004), Humboldt State (2001 & 2014); Dixie State (2011)

Field Goals – 20, Central Washington (2009)

Field Goal Attempts – 33, Central Washington (2010)

Field Goal Percentage - .846, Humboldt State, 11-13 (2015)

Safeties - 3, Central Washington (2003)

Points - 504, Central Washington (2008)

Game Avg. - 42.0, Central Washington, 12-504 (2008)

Punting

Punts - 79, Western Oregon (2003)

Yards - 3,354, Western Oregon (2003)

Avg. – 44.3, Western Washington, 50-2,217 (2002)

Net Avg. - 37.6, Central Washington, 40-1,503 (2002)

Punt Returns

Returns - 41, Western Oregon (2010)

Yards – 546, Central Washington (2014)

Average – 18.8, Simon Fraser, 13-245 (2013)

Touchdowns – 3, Humboldt State (2005)

Kickoff Returns

Returns - 67, Dixie State (2011)

Yards - 1,388, Dixie State (2011)

Average - 26.1, Central Washington, 43-1,124 (2015)

Touchdowns – 2, Western Washington (2004), Central Washington (2008); Dixie State (2012)

Miscellaneous

First Downs – 299, Central Washington (2002)

Fumbles - 33, Central Washington (2002 & 2005)

Fumbles Lost – 17, Central Washington (2002), Western Oregon (2002 & 2010)

Fewest Fumbles - 10, Humboldt State (2010); Simon Fraser (2012)

Fewest Lost - 3, Humboldt State (2010)

Penalties – 122, Western Oregon (2008)

Penalty Yards - 1,090, Western Oregon (2008)

Fewest Penalties - 53, Dixie State (2009)

Fewest Penalty Yards - 414, Simon Fraser (2015)

Best Turnover Ratio – 16, Azusa Pacific (2013)

Worst TO Ratio - Minus 15, Humboldt State (2002 & 2013)

Third Down Conversion – 49.1, Central Washington, 81-165 (2002) Fourth Down Conversions – 76.5, Western Washington, 13-17 (2002)

Time of Possession – 34:03, Central Washington (2013)

Red Zone Percentage – 90.9, Azusa Pacific, 30-33 (2012)

TEAM DEFENSE SINGLE GAME

Rushing

Fewest Carries – 14, Central Washington (vs. Dixie State, 10/3/09 & 10/31/09) Fewest Yards – Minus 51, Dixie State (vs. Western New Mexico, 9/6/08) Lowest Avg. – Minus 2.3, Dixie State, 22-Minus 51 (vs. Western New Mexico, 9/6/08)

Passing

Fewest Attempts – 7, Humboldt State (vs. Saint Mary's, 9/8/01); Central Washington (vs. Willamette, 9/8/01)

Fewest Completions – 3, Central Washington (Willamette, 9-8-01); Central Washington (at Dixie State, 9/10/15)

Low Completion Percentage (Minimum 20 Passes) – 22.7, Azusa Pacific, 5-22 (vs. Greenville, 11/23/13)

Low Completion Percentage (Minimum 10 Passes) – 22.7, Azusa Pacific, 5-22 (vs. Greenville, 11/23/13)

Fewest Yards - 20, Azusa Pacific (at Dixie State, 9/26/15)

TEAM DEFENSE SINGLE SEASON

Rushing

Fewest Carries – 295, Humboldt State (2009)
Fewest Yards – 759, Central Washington (2004)
Lowest Avg. – 2.06, Central Washington, 37-761 (2009)
Fewest Touchdowns – 5, Central Washington (2000)
Lowest Game Avg. – 58.5, Central Washington, 13-761 (2009)

Fewest Attempts - 248, Central Washington (2015)

Fewest Completions - 117, Central Washington (2015)

Passing

Most Interceptions – 24, Central Washington (2005)
High Interception Percentage – 6.8, Central Washington, 24-354 (2005)
Low Completion PCT. – 45.5, Central Washington, 158-347 (2014)
Fewest Yards – 1,341, Azusa Pacific (2015)
Most Sacks – 45, Humboldt State (2014)
Most Sack Yards – 286, Central Washington (2008)
Fewest Touchdowns – 10, Azusa Pacific (2015); Central Washington (2015)
Low Game Avg. – 134.1, Azusa Pacific, 10-1,341 (2015)
Low Efficiency Rating – 91.8, Humboldt State (2014)

Total Defense

Fewest Plays – 625, Humboldt State (2009) Fewest Yards – 2,817, Central Washington (2010) Lowest Avg. – 4.1, Central Washington, 793-3241 (2009) Fewest Touchdowns – 18, Central Washington (2009) Game Avg. – 249.3, Central Washington, 13-3,241 (2009)

Scoring

Fewest Touchdowns – 20, Central Washington (2009) Fewest Field Goals – 3, Humboldt State (2002) Low FG PCT. – 27.8, Western Washington, 5-18 (2002)

Total Defense

Fewest Plays – **34, Humboldt State (vs. Simon Fraser, 10/31/15)**Fewest Yards – 73, Central Washington (Eastern Oregon, 10/9/04)
Lowest Average – 1.2, Dixie State, 61-74 (vs. Western New Mexico, 9/6/08)
Most Points Allowed – 71, Dixie State (vs. Humboldt State, 11/15/14)
Most TDs Allowed – 10, Dixie State (vs. Humboldt State, 11/15/14)

Receiving

Lowest Avg. Per Catch – 3.8, Humboldt State, 9-34 (vs. Simon Fraser, 10/29/11)

Miscellaneous

Fewest First Downs – 6, Western Washington (vs. Montana-Western, 9/15/01); Humboldt State (vs. Southern Oregon, 9/11/04), Central Washington (vs. Montana-Western, 9-2-05)

First Downs Rushing - 0, Six with

First Downs Passing – 0, Azusa Pacific at Dixie State (9/26/15)

Most Opponent Penalties - 18, Central Washington (vs. Eastern Washington, 9/18/04); Western Oregon (vs. Portland State, 9/6/14); South Dakota Mines (vs. Southwest Baptist, 11/8/14)

Most Opponent Penalty Yards - 209, Humboldt State (vs. Mesa State, 9/3/05)

Low PAT Percentage – 72.7, Western Oregon, 16-22 (2009) Fewest Points – 155, Central Washington (2009) Scoring Avg. – 11.9, Central Washington, 13-155 (2009) Most Shutouts – 2, Central Washington (2010)

Punting

Most Opp. Punts – 84, Central Washington (2009) Lowest Avg. – 31.4, Central Washington, 53-1,665 (2005) Lowest Net Avg. – 26.8, Central Washington, 53-1,421 (2005)

Punt Returns

Fewest Returns – 9, Central Washington (2008); Western Washington (2008); Humboldt State (2015)

Fewest Yards – 28, Central Washington (2008) Low Average – 2.1, Central Washington, 15-31 (2013)

Kickoff Returns

Fewest Returns – 24, Western Oregon (2004), Simon Fraser (2014) Fewest Yards – 400, Western Oregon (2004) Low Average – 14.5, Humboldt State, 31-449 (2003)

Miscellaneous

Fewest First Downs – 155, Humboldt State (2014)
Most Fumbles Forced – 47, Western Oregon (2002)
Most Recoveries – 21, Western Oregon (2002)
Most Penalties – 113, Western Oregon (2014)
Most Penalty Yards – 1,034, Humboldt State (2005), Western Oregon (2014)
Third Down Conversion – 24.5, Central Washington, 35-143 (2004)
Fourth Down Conversions – 13.3, Humboldt State, 2-15 (2014)
Red Zone Percentage – 50.0, Central Washington, 18-36 (2009)

TEAM MISCELLANEOUS

Offense

Most consecutive games, TD passing - 54, Central Washington (11/6/04 to 10/3/09)

Active Streaks: Azusa Pacific 4, Central Washington 5, Simon Fraser 2, Western Oregon 7

Most consecutive games, TD rushing - 19, Azusa Pacific (9/20/14 to Present)

Other Active Streaks: Central Washington 2, Simon Fraser 2, Western Oregon 7

Most 100 yard rushing games, season – 11, Azusa Pacific (2014), **Humboldt State (2015)**Most different 100 yard rushers, season – 3, Central Washington (2012), Western Oregon (2013)

Most 100 yard receiving games, season – 14, Central Washington (2008)

Most different 100 yard receivers, season – 5, Western Oregon (2013)

Most 200 yard passing games, season - 12, Central Washington (2008)

Most 200 yard total offense games, season – 12, Central Washington (2008), Azusa Pacific (2014)

Consecutive games, not shutout - 131, Central Washington (9/18/04 to Present); 124, Humboldt State (9/18/04 to Present); 79, Western Washington (9/29/01 to 12/6/08)

Most consecutive wins, regular season – 17, Central Washington (10/4/08 to 11/7/09)

Most consecutive wins (including playoffs) – 12, Central Washington (8/29/09 to 11/21/09)

Most consecutive losses - 13, Humboldt State (11/3/12 to 11/16/13); Simon Fraser (10/25/14 to Present)

Most points, both teams – 118, Simon Fraser 62, Dixie State 56, 3ot (10/8/11)

Biggest victory margin - 77, Western Washington 77, Montana-Western 0 (9/15/01)

Biggest loss margin – 58, Humboldt State 71, Dixie State 13 (11/15/14)

Most points, quarter – 34, Central Washington (Western Oregon, 10/22/05)

Most points, half – 55, Central Washington (Western Oregon, 10/22/05)

Largest deficit overcome - 24, Humboldt State (Western Oregon, 10/13/01)

Largest 4th quarter deficit overcome - 11, Western Washington (Central Washington, 9/25/04)

Defense

Most points allowed, quarter - 34, Western Oregon (Linfield, 9/11/04; Central Washington, 10/22/05)

Most points allowed, half - 55, Western Oregon (Central Washington, 10/22/05)

Cons. Games, no rushing touchdowns allowed - 5, Central Washington (10/2/04 to 10/30/04), Dixie State (9/3/09 to 10-3-09); Humboldt State (9/6/14 to 10/4/14)

Cons. Games, no passing touchdowns allowed – 4, Humboldt State (10/30/10 to 9/1/11)

Cons. Games, no touchdowns allowed – 2, Central Washington (10/9/10 to 10/16/10)

Consecutive Shutouts – 2, Central Washington (10/9/10 to 10/16/10)

Consecutive games, interception - 18, Central Washington (10/9/04 to 9/16/06)

Overtime Games

Sept. 15, 2001 Menlo 36, *Humboldt State 29 Oct. 19, 2002 *Central Washington 35, WWU 28 Western Washington 20, *WOU 17 (3ot) Nov. 9, 2002 Sept. 6, 2003 Western Oregon 23, *Humboldt State 22 (2ot) *Western Oregon 23, Western Washington 20 Sept. 13, 2003 Sept. 27, 2003 *Western Washington 42, Saint Mary's 35 *Carroll 27, Central Washington 21 Aug. 28, 2004 Oct. 2, 2004 *Western Oregon 52, Western Wash. 49 (4ot) Sept. 29, 2007 *Humboldt State 30, Dixie State 22 (3ot) Aug. 30, 2008 Central Washington 44, *Dixie State 38 Oct. 8, 2011 *Simon Fraser 62, Dixie State 56 Sept. 4, 2014 *Azusa Pacific 26, Grand Valley 23 (2ot) Sept. 6, 2014 *Colorado Mesa 44, Dixie State 37 Nov. 1, 2014 South Dakota Mines 41, *Dixie State 40 *Home team



Updated Through 2015 Seasoon

Conference Champions

Year	CFA Mt. Rainer
1987	Central Washington
1988	Central Washington
1989	Central Washington
1990	Central Washington
1991	Central Washington
1995	Western Washington
	•

Year **CFA**

1996	Western Washington
1997	Western Oregon
1998	Central Washington
1999	Western Washington
0000	0 (1)4/ 12 ()4/ ()4/ (

2000 Central Washington, Western Washington

Year	GNAC
2001	Western Washington
2002	Central Washington
2003	Western Washington
2004	Onetral Washinston

/ashington Washington Central Washington 2004 2005 Central Washington 2008 Central Washington 2009 Central Washington Central Washington 2010 2011 Humboldt State 2012 Central Washington 2013 Azusa Pacific

2014 Azusa Pacific 2015 **Humboldt State** **Final National Polls**

AFCA					
Year	CWU	WWU	WOU	HSU	APU
2001		23			
2002	9				
2005	31				
2007	11		37		
2008	13	37			
2009	3				
2010	31			39	
2011				20	
2013					27
2014				31	23
2015				16	

D2Football. com

Year	CWU	HSU
2002	5	
2005	22	
2007	19	
2008	11	
2009	1	
2011		16
2014		24
2015		11

Football Gazette

Year	CWU
2002	8
2005	29

College Sports Report

Year	CWU
2005	14